B =4 =48 4 +4
= +12

Subiract.
Lin = =
174~ +3 = T 2=/

@d+3m+32

ia. 6 - -6=
13. 0 — +7 =

18. "9 — -§ =
19. "8 - -4 =
22, "6 — +8 =
25, 7 — +3 =
28 *3 ~ -8 =
3.8 - -8 =
34, "2 ~+0 =
L2 - 0 =
014 - 6 =
43. ~13 - 10 =

46, ~15 — -12 =
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H,

14,

i7.

23.

28.

29,

32.

35.

41.

47.

@@@ﬂ'@%&gh@@% for 330-334

6 7 =
-9 - +5 =
4 e - =
+G - 1D =
7—--5=
6 — B =
-8 — +4 =
15 ~ -7 =
"8~ +11 =
*16 — -9 =
*16 - -13 =

' Subtracting an integer is )
the same as adding the
~ Opposite of the integer.

12

15.

18.

21.

24,

27,

30.

36,

39.

42,

18 ~ +11 =
19 ~ +17 =
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